CpE5110/CS 5700
Homework #4
1.
Perform A ÷ B where (A and B are unsigned numbers)




A = 110011001100




B = 111001


a)
Using the restoring technique,


b)
Using the non-restoring technique.

2.
Apply the SRT technique to perform A ÷ B where


a)
A = .000011001100,
B = .011001


b)
A = .0010110101,
B = .01101

3.
Find [image: image1.wmf]1

B

 where B = .1101 and X0 = 1.0011


Note:  Calculate X3 (Mantissa is at most 8 bits long)

4.
Apply the multiplicative division technique to perform A ÷ B where


A = .00101101,
B = .1101


Note:
The mantissa is at most 8 bits long.




Calculate up to B2.

